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Assume we have a fast alg . for A.

ducea known problem B to A.

Give an algorithm to solve B uses
A as a subroutine.
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Claim : MaxindSet reduces to Max Clique.
Pf polynomial time-

Vsuppose I have an alg . for Max Clique.
/Magic black box Solving Max Clique).

MaxInd Set (G = (V ,E)) :
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build a new graph G withYou'V = v

E = 2uv : uvyE)
Solve
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runtime ?
Maxindset can be solved in poly time.

800
↑ ↑

poly time

Maxindset reduces to MinVertex Cover.

Max Indset (G) :

let n= verts in G

return n - Min Vertex Cover

Max Clique

Q : in our examples, Max Indset = MinUC
&




